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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226623881 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The magazine “Chandamama™ was started by
i Bapu. Ramana
2. Nagireddy, Chakrapani

Venkata Parvatheesa Kavulu

4. Andhra Pradesh Children Academy

“SFHSLDMDT @BFHEWD 6\SHMLIRISWIeUT

1. Uy, [JLD6soIIT

Tl

2, BISEILLY, FSILM60T

3. ekl umeuds Sefse

4.  SBIMINCHEY GLHEDSHET HSTLLS

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 2 Question Id : 39226623882 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose correct answer regarding Author and book.

i. Charles Darvin a) David Copperfield
i1. Charles Dickens b) War and Peace

ii. Leo Tolstoy ¢) Origin of Species
iv. Donte d) Divine Comedy

[BITE0 6TIDSSTETT LDMMILD [HIED EVSILITLIMEDT &Frfluwimeor
eflemLeml S6voTL ).

i. &mievery Lmiefeor a) GLefl. smuumieor
ii. FMTEVEN 195615 60T61 b) eumm DieorL. LS6iv
iii. 601G LmederoLmul ¢) pfigderr Bpli L6
iv. Lmesr@L d) 1PeWmEUEIT SHMLOILY
L. 1-¢, 11-b, 1mi-d iv-a
2: 1-b, nm-a. m-c, 1w-d
3. 1-¢. 1-a ui-b, w-d
4, i-b, ii-d iii-a iv-c

Options :

1. %1

2. % 2

3.3

4, % 4



Question Number : 3 Question Id : 39226623883 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Kherai Puja’ belongs to this tribes

I Gond
2, Kol

3 Bodo
4. Baiga

QHIMU  LpewRR’  6eTug &BS LPRIGRUIETHSS
E\SMLMTLemLIG]

@& T6TL.

2. Gameo
3 GunGLm
4. emLISIT

Options :

1. % 1

2.% 2

3.3

4. % 4



Question Number : 4 Question Id : 39226623884 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The concept of ‘Fundamental Duties’ of the Indian
Constitution 1s taken from this country constitution

L. Russia

2, England

fad

Germany

4. Australia

BHHL HTFWeEveWDLIL| FULSH6T “BHQLUILIEDL
SLEWDGET’ 6I6NID SHHSSH, BHHTLIQE
SirdlevsmiDLL] FUL5H60 BHHSH TBHHIS

E\EMETOTULILL &)
1. JexQuIr
2. Smbeonhg)
3.  6\gMMbeuf]
4. SpendGoedlum
Options :
1.¥ 1
2.% 2
3.%3

4. % 4



Question Number : 5 Question Id : 39226623885 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Stainless Steel” invented by

1. Henry Bessemer
2. Thomas Newcom
3. Harry Brearli

4, Walter Hunt

‘BIHUINLSSTS 6160 SHeuBLIRSS6UT
L elemeom 6\LIENVEFLDIT

2. SMDev Bupsmb

3. aommfl Aflwriedl

4.  6UMLLIT QMEDTL

Options :
1. % 1
2.% 2
3.3
4. % 4



Question Number : 6 Question Id : 39226623886 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Junk e-mail 1s also called as

1. Spoof
2. Spam
3. Spool
4. Virus

&RMs @-61nuillemen @eueunm)| FaL HeWLDLILIT.

1. 6Ly
2. &@uD
3. 66

4. EMEUTEN

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 7 Question Id : 39226623887 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One famous book “The Daughter of the East™ is written by
L Tasluna Nasreen
2 Sirimavo Bandarunaike

Benazir Bhutto

(S ]

4, Aung san Suu Kyi

LSOO "8 LMLT 01 & A6 6IenId  LSS85605
eT(LD&WLI6UIT

1. S6edlm merfeot

2. finGeur uesoLMIHMUGES

3.  ewewdm yrGLm

4. Sy Fmen & &

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 8 Question Id : 39226623888 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name the first Indian businessman who found place in the
cover story of Forbes magazine

I Narayana Murthy

2. Dr. Reddy

3 Anil Ambani

4. Azim Hasham Premji

Gumleny @sletT (WY S Benguilso LD KR5S
pse0 @hIW eFMbeoSu

1. BIITW6NT e

2 LISLIT 6JLIQ
3. Dievfled Sibumenf]
4. Sigdb emed NGmDES
Options :
1% 1
2. % 2
3. %3

4.9 4



Question Number : 9 Question Id : 39226623889 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Guillain Barre syndrome (GBS) is a

I: Nerve disease

-2

Communicable disease

Autoimmune disorder

L |

4. Type of respiratory mechanism
GeOlweor umfl Heor@omib (GBS)  er6tTLI)

1.  mowby Grmu

2. ezmbm Gmmu
3.  &60T eidmuumbmey G&merm)
4.  (H CUHSWITEN FHEUTF BUISHSHLD
Options :
1. % 1
2. % 2
3.3

4.% 4



Question Number : 10 Question Id : 39226623890 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The war ship maugurated by Indian Defense Minister at
Kaliningrad Yantar Shipyard in Russia is

1. INS Vikranth

2. INS Tushil (F-20)

INS Kiriti

4. INS Ravath

geiowimefled 2 eTer  S60leufledTAML  WeTITLIT  SHLILI6D
SLOL Feopuledo QEHU UMHSTIY HEWLDFSFITED
OGRS emeusSLLLL GUMTSHLULISD

LS ]

E . 6160161610,  6NHINMHS

2. . 6160167610, FHladleo (6TL1-20)
3.  .eremereiv. Hifip

4. &.6T60T.6T610.  T6US

Options :
1. %1
2.9
3.% 3
4. % 4



Question Number : 11 Question Id : 39226623891 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
15™ Aero India expo held in this city
1. Jaipur
2 Puducheri
3. Calikat
4. Bengaluru
15 6ug)| eflionend SeUsM Sl HeMLOUDD HSILD
L Q@R
2. yssGsef

3. SMe0IS ML

4.  6WIMISe6H(H

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 12 Question Id : 39226623892 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

49™ Imam of Nizari Ismaili Muslims

1. Prince Aga Khan - 2

2. Prince Aga Khan - 3

Prince Aga Khan - 5

4. Prince Aga Khan - 4

eomeRmhl @eromuiledl wpsivebibserflesr 496ug SLOMD

L |

L urflestery SH&M Hmeor - 2
2 urflesteiy SH&M et - 3
3 urfledTeny SHFM HMeT - 5
4. urflestery SH&M et - 4

Options :
1. %1
2. % 2
3.% 3
4.9 4



Question Number : 13 Question Id : 39226623893 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Country’s first Robotic godown that run by artificial
intelligence will be established in this port

1. Ramaya Patnam
2. Bandar

Krishna Patnam

LS ]

4. Surya lanka

BILEGGEW  (PSETPEDDWLTS  BRSHIWDLPSHSHH60
OFWDens  [HlevuretorplefledT  epeold  BuiSSULIBLD
Gormumes SLmIG gDUBSIILL 2 6Terg)

) SIMDMWLILIL IQ6TLD
2. UGBS
3.  &(mHelQeuITLILIQ6DTLD
4. GTILIEORIGIT
Options :
1. % 1
2.9 2
3.%3

4. % 4



Question Number : 14 Question Id : 39226623894 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Tropex-2025 is aimed to
1. Coast guard

2 Production of cars

(d

Cloud computing

4. Industrial investments

‘LEImeW&s - 2025 e160TLG BRFHEWN GNGHEHTETTS
6\&M60ITL &

1. SLMOHSEDT LIMSHISTLIL
2. Smseflenr & HusH
3.  &eTeyl &L} IO
4. OFMPDEFTENEL (LPHEDBSHEIT
Options :
LY
2. %2
3. % 3

4.% 4



Question Number : 15 Question Id : 39226623895 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Aryana Sabalenka : Tennis : : Charith Asalanka :

1. Gymnastics
2. Cricket

3 Chess

4. Kabadi

SHTWITETTT FLIEGOMRIGIT | GIL60TEUTI6N @ © &MITlS HFEOMRISIT :
1. 25lLDETTITENVINS

2. &flsesL

3.  SEOTRI&LD

4. LR

Options :
1. %1
2.2
3.% 3
4. % 4



Question Number : 16 Question Id : 39226623896 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One of the following is NOT related to artificial intelligence

L Chat GPT

-2

Deep Seek

Google Gemini

L |

4. Destination Sink

SLDHSHETTL 6U D60 E\FWIDHENS [BleooTETT6YSS
EVBMLITL SHELEOTHF)

1. g gglalg

el &5

FG6T 6\1gLdleuf]

oW

EIL6IQBeTTE60T FlMfid

Options :
1.% 1
2.% 2
3.%3
4.9 4

Section 2
Section Id : 392266779
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions :
Number of Questions to be attempted :
Section Marks :
Maximum Instruction Time :

—_ O ~ 00 o

Sub-Section Number :
Sub-Section Id : 392266904
Question Shuffling Allowed : Yes



Question Number : 17 Question Id : 39226623897 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NCF 2005, evaluation for Grade 1 and 2 should
be conducted in this manner

1.
-
P8
3
2

4

Oral
By conducting quiz
Through close observation

Through written exams

NCF 2005 601 U, 1, 2 GLUUSEHES SLDSSHMELD
(pemmuieo BB Brieudss Geustor(BLD

1
2.
3.
4,

Options :

1. % 1
2. %2
3.¢3
4. % 4

EUMUEILDML

efleorme efleorm GuMLR [Bricudsse0
GBS 2 HNGHEMESED ELpevLD
(WRSHGE GSHMEYHET ELPEVLD



Question Number : 18 Question Id : 39226623898 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Minimum age for girls to enter “Kasturba Gandhi Girls
Schools’

1. 6 years
2. 8 years
3. 10 years
4 12 years

“sengmilumy AmblseT usteflulles” G&r
ANIOSEHSEES BMHSHEEUTITL GDDHSLILE CUUIS)
1. 6 6U(HLIRIGET

2. 8 eU(BLIR&ET

3. 10 eu(BLIRISSIT

4. 12 U(HLIBIGEI

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 19 Question Id : 39226623899 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Following road safety rules is a

1. Social value

-2

Democratic value

Moral value

L |

4. Aesthetic value

FMeme0 LUMFHSTLLY eflEsemner LeiTUDmISHe0 6T60TL)

1. &eLp& DAL

2. @RENBMUSLD &FMihg LDHLIL
3. bSemEM S
4. SIDPGSETT DALY

Options :

1LY 1

2. % 2

3. % 3

4.% 4



Question Number : 20 Question Id : 39226623900 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This type of Naturalism believes i Charles Darwin’s theory of
evolution

1. Physical Naturalism

2 Mechanical Naturalism
3. Biological Naturalism
4 Historical Naturalism

85 Sunsnsuiwib Lmiefledr urflesommd  GHmium emL
BLOLEDS

1 Supiw SuwhHensuIwLD

2. eBdI SuUDnsuIWLD

3. e uiiflu Subemsuiwib

4.  eugeonpm SwihemSuiuibd

Options :
1. % 1

2. % 2
3.3
4, % 4



Question Number : 21 Question Id : 39226623901 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This statement 1s true about ‘Toles” in Bengal

i, “Toles” were institutions teaching Urdu and other
subjects

2, “Toles” were vocational training counters for artisans

3. ‘Toles” were institutions teaching Sanskrit and other
Subjects

4, “Toles” were administrative centers for the Moghal rulers

EURIBTENEHE 2 6o “GLmed” &6 Lbjil 2 600TemLDULITE0T
gam)
1. ‘GLMeL'ZAT 2 (BE WOMID D LIMIRSeneT
D ad If s
2. ‘BLITeD’ H61T eE6HlemETTERHTHEDRSS  SMADLUIDA
BleflE@D [BMICU6TTRISET
3. ‘GLITED” &6IT HADSVARSD WHMID LD LIMRIGEWET
SOIGGD BMI6UETTTRISET
4.  “GLITeV HEIT (LPSHEOML AT aTiserflest Bieuna
EWLDILIMRIGHEIT
Options :
1. %1
2. % 2
3.¢¥3
4. % 4



Question Number : 22 Question Id : 39226623902 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NEP — 2020. this B.Ed course is available to
those who want to become a teacher with 4 years multi
disciplinary Bachelor’s Degree

1. 4 years B.Ed Course

2. 2 years B.Ed Course

3. 3 years B.Ed Course

4. 1 year B.Ed Course

NEP - 2020 601 L1g, &b% B.Ed Uy, 4 ShLemorBseT
Leugiemm MeTBemev LLLLLnoULesr, pAfwT S5
fl(BLOLGUTNHES SMLEEDE

1. 4 Sievor(ps:eT B.Ed

2 2 Spevor(Bs:eT B.Ed

3 3 Spevor(Bs:em B.Ed

4 1 Syevoi(BaeT B.Ed

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 23 Question Id : 39226623903 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT the reform regarding exam by NCF 2005 from
the following

1. The exam should not be conducted

2. Assessment should be conducted as diagnostic activity

[ ]

Assessment should be comprehensive

4. Impliment Continues Comprehensive Evaluation

SaseniLeupmleo NCF 2005 et Gziiey  STHHSSLD

BIELEVMTS G

1. Goieysemer Brieudss FalLng)

2. @&opwn) e\FweoLInBsHems HuirenL Bieudss
@eustuT(BLD

3. EIIE pREamenEg BHES Geustur(BLD

E\SHMLITFFWIMET DMMID (LP(LDEMLDLLITET
BT WL HDEOLIBESHH6E0

Options :

1.v 1

2. %)

3. % 3

4. % 4



Question Number : 24 Question Id : 39226623904 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s not a financial register
1. Cash book

2 Acquaintance register

LS ]

Property register

4. Pay-bill Register

B85l BBewed LECUE Sievev

1. LI6ooT 6ugey 61F6v6y SMILIGLE®

2. upeprmuu UBGCeu®
3. eansgs usGeu®
4. 2afu ubCeu@®
Options :
1. % 1
2.% 2
3.3
4, % 4
Section 3
Section Id : 392266780
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266905
Question Shuffling Allowed : Yes



Question Number : 25 Question Id : 39226623905 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A baby first addresses all men as ‘dady’ and then uses that
term only for his own father. This statement satisfies following
Principle of Development

1. Development follows a definite direction

4 Development proceeds from general to specific
3. Different developments are interdependent

4. Development is a continuous process

‘SLDHENSWITETTH] (LPHEVI6D, S ETHET HEMETTEUEDILILD
‘ST eTenT WSS, LIMEG DFEFTE06m60  SH60T
FHWGHS WLLOGL UWETUBSSIH0  SLDSHSHETTL
(pettGeorhm 6flGemwl LletTUDH MBS

1. (PeTGeTTODID GILLI'L. SemFemil LNeTbnISnE|
2.  (peiGeurhpD  OUNGemUledlpBE  GMILLILL

UDPING OSTLTEDS
3. 6eeeGam (PeTGETDHMRIGET §60TMIHE\STETM)

E\SMLITLeWmLUIEDEY
4. (LPSOTGEDTDMLD  6T60TLIG|  O)HMLITFFIMETT  6)FUI6D
(CR 1Y)
Options :
1%
2.9
3.% 3

4, % 4



Question Number : 26 Question Id : 39226623906 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Educational opportunities and school facilities influence the
development of an individual, the correlation between the
school facilities and individual development 1s high™ This was
mentioned in the book

Educational Determinism

1
2, Hereditary Genius

[ ]

Oxford English Dictionary

4. The Environmental child

“&606lll GUMULILIS6T DDOMILD UeTerfl suFds6iT, smeurfleoT
QPIBUDNEBD  FTEESS  TDUBSZBDS!.  UeTer
QUFSSH6ET LDOMID meufledr (peTGetThmD  RewL Gl
She0T RLEOMEY DHBHWD™ et60T 6\FiMeflss LGSHD

L etuyGseagsso 1oL Mbleuflad

2. eeofigLfl geuflwein
3. SpSeU. @ridsbe sHegeu
4. & eT6TeHIIITE0T6LDEITL6D EMEF VL.

Options :
1.1
2. % 2
3.% 3
4. % 4



Question Number : 27 Question Id : 39226623907 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Early Childhood stage 1s

1. According to parents — Gang age

2. According to psychologists — Troublesome age

According to parents — Imitative age

LS ]

4, According to psychologists — creative age

(LDEUTLIETEMATL LITHEULD 6TE0TLIG),

1. eWwmCmmilesT HHSHILULIQ,-FaLrLmefl &l U]

2. 2 emeflwed BiMlepaeflenT HHBSHILILIQ, - L
sllemeTefla@LD UL

3.  ewhGmmilelr SHSSHILLIQ,-LINETLDHMED EULIS)

4. 2 emeflwed SHMlerTHaflett SHHSHILQ - SS55HS
SesT UL

Options :
1. %1
2. %2
3.% 3
4.9 4



Question Number : 28 Question Id : 39226623908 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement for ‘Social development’

I According to Sorensen, it is the attaining of maturity in
social relationship

2, According to Hurlock, ability to work along with other

3. According to Garret, transformation of a biological
being into a human being.

4. According to Mac-Iver. a desired behaviour to live with

others
‘FoLp& eueTTES  \GMLALMETT Ffluimesr Famnemm
DIEDLWIMTATD SHTE00TS.
1. GanetTEest saphmIULILY, 85 FePS
e\FMLTG6rle0 (pHTFHleni DemLGe0
2. apiens gFephouue, KGDIELET  HnenLwng
Lievofl E\FLSH60
3. &Ml sapmug, 2 ulfmeTer @meul, Leuflss
S6UTemD 2 6Ll §HEUITS LDTMISHE0
4. Cuoa-geum sappine, Gn@mLeT  efHLuUS
SSHEHEUTN)] LILDESSH60
Options :
1. %1
2. % 2
3.¥3
4, % 4



Question Number : 29 Question Id : 39226623909 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Attributing life to non-living things

i Ego centrism

2. Object permanence
3. Animism

4. Super Ego centrism

2 ulmhm eWnHLEemeT 2 UlMmeTer EWMHeTTS SHHS
E\SHMEITETHSE0

X FGSIT 6WLDWILD
2. WM HET [BENEDESHSE0T6MLD
3. 2 uim snyevufluwiD
4.  Fuum FGHMT EMLDWILD
Options :
1. %1
2.% 2
3.3

4, % 4



Question Number : 30 Question Id : 39226623910 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement

S: Srinivasa Ramanujan is a mathematical genius but
doesn’t speak English. So there are Inter individual
difference here

R: Two brothers belong to the same family elder brother

can read well and younger one can write well. So

there are Intra individual differences here

S. R both are true

S - true, R - false

S - false. R - true

S. R both are false
EFrﬂu_lrrEnT gaemm HEWLIMEMLD SITE00T S

S: Seofleund  @UMDTEDETT 6wl GEWS.  D4E0TTeL
SymBsod  GuE MLmML. HEC GRG
mLTSHerflemL Seuflumem Geubmiemid 2 _6fTeng,.

R: @uen®@  sCanamisst  @F — GSODUSMS
GHATESEUTSET 6T6flenD SO HETTDTS: 6N(LDSHIEUMTT.
SpFCey, @RIG Sevflufen seuflmeT Geunhmienid
2_eTeng).

.I:L.LHMI—'

& S.R @uevor(BLD 6Dl
2. S-6Ww, R-6WDWILMHmE
3.  S-ewwwmmg, R-6Ww
4. S.R @pevor(B0 SDWIWLIDDE)
Options :
1. % 1
2.% 2
3.%3

4.¥ 4



Question Number : 31 Question Id : 39226623911 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify correct statement according to Wallas

H:  Creativity emerges in the form of a sudden flash
m Insight stage

5 Creativity is evaluated in Proving stage
1. ‘H’ only true
2. ‘S’ only true

H. S both are true

4. H. S both are false
6UMEVEN FaDHMILILIQ, FWTeT Fahewn SHevoTBLIY.
H ecvsmdl Beoeouled, HASSSBDET L6rTo\Teot

LS ]

@zmedTmLD

S: Beplgzeo [Beweouled H&ESSEMET  LDHIILL
LGSESI

1. ‘H” IDL(BLD 6)1DUl

2. ‘S” IDL(BLD 6Dl

3. H. S @r6vor(BLD 6D
4. H.S @uevor(BD 6WDWIWLIDMS]
Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 32 Question Id : 39226623912 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Raven’s Standard Progressive matrices test 1s

1. Non-verbal. Group and Paper Pencil test

2 Group. Power test

3. Paper pencil. Verbal test

4. Non-verbal, Performance test

Grevevfleor eruLmevorLi(® L@magerdey GLrilasy GFTHem60T
ST60TLIG|

i EWMPETT, &W Whmid Ui eweirdeo

Options :

1.¥ 1
2. % 2
3.% 3
4. % 4

Garzement
&, Boeir GFTHEmEoT
GuUUIm eWedTdled, GWDMHEFTT GEFIZHEmenT

GWDMPlEI, O\FWDEHFTSHEm60T



Question Number : 33 Question Id : 39226623913 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One of the following is not a correct statement

E “Ability’ refers to the current state of a person

2, *Achievement’ refers to the past stage of a person

LS

"Aptitude’ refers to the future stage of a person

4. Attitude scale was developed by Stanly Hall
SLDESHETL6UDHIN6L FWNETT Fabml SHeLELNSHE

1. smeufledT SHEUMMSW Bewsvenid GSMILLNB6LS)

- ‘BmemLp’

2. emeuflett &LBS SMe0 [Bemevemil GSMILILNBoUS)
- ‘SHemLey’

3. Mreuflest  eiFMEMeL  [Beweoenl  GHILLBeuG)
- HBALLLD

4.  LDEUTLILMEUTEMLD  DHeMeyGamemed 2 (Heumsauieu

6OLIMT60T60l euIT6L
Options :
1. % 1
2. % 2
3. % 3
4.9 4



Question Number : 34 Question Id : 39226623914 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Omne of the following is not a correct pair
1. Kretschmer - Germany
2; Spranger - Switzerland
3. Hippocrates - Greek
4. Sheldon - USA
SD&SHETL6UDMNED &1fl BiseONE Bemevor
i &6)JEIQLDIT - 6)ERITLDEUT]

2. 6UOMMRIGT - S&eflFATeonha)
3. anflu@urnsmgen - EEISSHLD
4.  6)6Q6VL60T - SHEWDIfESHT

Options :

1. % 1

2.9 2

3. % 3

4.% 4



Question Number : 35 Question Id : 39226623915 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not related to ‘Ink blot test”

I: It 1s designed for adults

Z. It is a projective test

3 It consists of five white and five red cards

4, There is no particular time to conduct this test

SDHEHEULEOUDNIL DDFGFL  GHIFHEMETHES  CIFHMLITL
D60V F)

L B8 (WPIT LUHOUSHEU(HHS 6UQEUEDIDSSLILILL &)

2. @85 YnsGsmhp HIpemD GoMSEme Shid

3. @860 5 feuetoremid BM LOMID 5 Heuly Bm
DILEDLEET BHSHESLD

4. @FCsnzemevienwl [Bieudss GSHUSLL  Smew
D66y BREVEM6V

Options :
1. %1

2. %2
3.¢3
4. % 4



Question Number : 36 Question Id : 39226623916 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“A Clerk has shown his anger towards officer on to the files™.
This 1s related to the defense mechanism
1. Compensation

3, Withdrawal

T4l

Regression

4. Dispalcement

"o wir  Sbsmiudest  Wsnenr  GHMUSMS eSS
Gamuyseflesr 55  SMIQEUITT” eT6TUgl  SLD&HSH6ETTL
SDSMIL BLEDS SHSID.

1. FBOFLSHED

2. UetTeunmii&se0

3. LlebTentemLg60

4.  SLAHMLD

Options :
1. % 1
2. %2
3. % 3
4.9 4



Question Number : 37 Question Id : 39226623917 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct statement from following

a: A student learned the plural of ‘book’as*books’.
learned the same plural of ‘pen’as‘pens’. This relates
to positive transfer

b: A student learned ‘but” and it pronounced as ‘but’. In
the same way he learned “put’ and pronounced it as
‘pat’. This refers to positive transfer

1. a. b both are correct

2. a. b both are incorrect

LS ]

“a’ only correct

4. ‘b’ only correct
LNetTeumeuetTeuDMIeOHBS Fiwmssr Fanenm SHevorBLlLg.
a: ‘book’60T LI6oTEWLD ‘books’ 6160T &M LDMETITEUEDT,

‘Den’60T LIGOTEWLD ‘pens’ 61607 SHMHMIS 6\SMeTeus)
Gmrle SDHMEd MDHDID SHSLD.

b: ‘but’@ ‘UL e160T SMM  LDITETOTEN60T ‘put’@s ool
660 HDHMIG 6\HMETERSH0 GBI SMHMEL LAHMLD
SHGLD.

1. a LDHMID b &l

2.  awOmw b Heum)
3. ‘a’ IDLBCW &l
4. ‘D" LG &l

Options :

1%

2.% 2

3.¢3
4.% 4



Question Number : 38 Question Id : 39226623918 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT related to ‘Bruner Theory of
Instruction’

a. Priority should be given to Student’s self-learning

b. Learning material is important rather than method of
teaching

i ‘a’ only

2. ‘b only

a and b are not correct

Tl

4. a and b are correct

Lerpeotilest SHmed GHMLM NG ST DIeveoNS)]

a.  LbmesoreurfledT & SDMENSS HES (PSHHUSHIGULD
Sierflas Beusuor(HLD

b. &DUIESeL (Ppeomedw! 6L HDHMEL SHIHEAHEHHS
DiE5 (PHBWLSSID Deflss Geustor(BLD

1. ‘a’ LDL(BLD
2, ‘D" LL(BLD
3. a wohmid b &flweveo
4. a oMW b &l
Options :
1. % 1
2.92
3.% 3

4. % 4



Question Number : 39 Question Id : 39226623919 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the wrong statement

1. Despite the experimental extinction of conditioning is
done, conditional reflex may occasionally arise

2. Usage of conditioned response as conditioned stimulus
1s called higher order conditioning

3. The higher the reinforcement the stronger the
conditioned response

4. Unconditional stimulus is continued after conditioned

stimulus, the conditioning will be stronger

SEUDMETT Fanenm SHevoT(BLIQ.

1. b & &HBemeouIN|55H6m60 SiIBE) Gunas
QEWSTEYID, eTLCUTSTENS  Sh&sLomelement
eeuerfliLBLD

2. BLBUUBSSUULL  SI60MmISeme, S (BLULIBSSLILLL
HIEILEOTS  LWeTUBSHIUeDS S WIMHen6D
b SHBENEOUWIMIFFHD 6TE0TLIIT.

3.  eueyGeubmLD SHBSHITSSLD Gurg),
SLEULUBSSLLLL SIE0MRISEHD GUEIEUEWLILILD

4, SLEUUBSSULLL  SIenLeysd UIng, SL@U
LUBSSULLTS SHTEVITL 6WED E\SMTLITHE)
Sleflggner SE5HBMEOLMNIGSID EUGYEUEHLULILD

Options :

1. % 1

2.9 2

3.% 3

4. % 4



Question Number : 40 Question Id : 39226623920 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to ‘Kirk'. identification methods for Learning
Disability are

a.
b.
C.

d.

Medical Tests
Professional skills Test
Study of family. School and Environment

Study of behaviour

‘@Ms  FaDpUUR, SDODED GEDDHUMLEDL  HEITLMILLD
(LPEmMSET

d.

ID(HSEHIEUF CFTSHENETTSH6IT

b. OBMODHBMET CHFTHENETSHET
¢.  &@®WuUWD, ueTefl, HOMULD Sbuiey
d.  BLEHMSHET b6y 6\FUIH6ED
i a.c.d
2. b c.d
3. a.b.c
4, a.b.d
Options :
1.9 1
2.% 2
3.% 3
4. % 4
Section 4
Section Id : 392266781
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24

Number of Questions to be attempted : 24



Section Marks : 12

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266906
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 39226623921 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘SHerfl’ etemID E\FTELEOl6TT EWIM(HEIT

1. Sufiggeo
2. e\BOHM)
3. ubsseo
4, & (THem60lT
Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 42 Question Id : 39226623922 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

BMD&EHE0 HEHlEhHT 66U, BRIMDEOIhIH6TTIE SHuFTlens

1. 61601 eumpey
2.  ele0r &g
3. 6601 LIMemS

4. 61607 HEWS
Options :
1.1
2.% 2
3.%3
4, % 4



Question Number : 43 Question Id : 39226623923 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
OLNHHESTENSHS HevT(BLIL.
1. W@sTHIS Smefluib

2 &6ouTL60(E5 4

(8]

2 _SWewT GLMT Srefluib
4. BeoGsd

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 44 Question Id : 39226623924 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
SIFMHS DG 660 STTILTSTENT HHSI6US)
oL 6\g60Tm G&HLSMemD

1
51 NpfiLD Ss&D SML6eD

fad

BILB DSSHEMET 6U(HSSTENLD

4. GsLU6T HENIM 6T60TM 6)FTE06YH60

Options :
1.% 1
2.% 2
3.3
4. % 4



Question Number : 45 Question Id : 39226623925 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Dlemeullighd OWDWISNBTULUMT Hevefld HeveomT -
Seueulp BLLDELIDHMIETET HITED
1. BEemn eflenssd
2. meoreleoTml

-

3. [BmeolQuImT
4. mBONlewesor

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 46 Question Id : 39226623926 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

mBeusTT A& Spewnmbluilenss 6&FLDEIDTLIELIETT
SINlelss meiT

1 10.12.2004

2. 12.10.2004

10.12.2002

4. 12.10.2002

L |

Options :
1. %1
2.9 2
3.%3
4. % 4



Question Number : 47 Question Id : 39226623927 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
HHEBSDET60 HEWDHBFIGTOT 6IDMES FHUIGOSHET
1. (B

2. usg
3. Q6ETLIG)
4. eI(LD
Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 48 Question Id : 39226623928 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

eflemeTTDILIE O\ FTDHSHEWET CIITHSH!S.

I B - S UnBeotedt
II. Gemmy - 3. SeoTest
III. umeo - 8. GRHSTe0
IV. wpmis& - . ©_6U0TLITET

. I-m OI-@ II-&, IV-S
2. I-@, II-m, II-& V-
I-m, -S4, [I-&, V-8
4. I-@, I-m, II-&i, V-3

(8]

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 49 Question Id : 39226623929 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘@60’ eTeyld 2 (BY RHBFMD GeupmienLouiled
Suemnerfled 6udHLD

f €QLILJ
2. BRSed
3. agl
4. 6T6DEMED
Options :
1. % 1
2.% 2
3.% 3
4. % 4

Question Number : 50 Question Id : 39226623930 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘LIRS . 6UOTLITEN  6T60TLLR| B6U6UES &6 LILITIELD
FlemeoTIM&GLIWIT

2. S(HETLIMGELIIT
3. e\Empleon&eLwim
4. LI60OTLIM(& 6 LILLIT

Options :

1L¥ 1

2.% 2

3.¢3

4.% 4



Question Number : 51 Question Id : 39226623931 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
mefleot mIeufl GsveUM DH6TIT600TSHH 60T
(peTLGHmW O\FMTHEUST0 KNINSESD 6T(LDSHF
1. ®
2. 6001
3. 60T
+ Tl

Options :
1. %1
2.% 2
3.°3
4. % 4

Question Number : 52 Question Id : 39226623932 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
MH 6\FMLfled HI6L WM, SLBeDIL I,
ULDAWDMLY (LPSEOILIETT 6UBSTEd GSMISSLILIBLD
POISSDSD)
1. smoyererfl
2.  ebemn GCLOHECSHTETGM
3. @rienL GDEsTETGSH
4. Sewyuyeierfl
Options :
1LY 1
2. % 2

3.% 3
4, % 4



Question Number : 53 Question Id : 39226623933 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
CWMFHENEF 61FTELENEVS &HIT(BLIL.
1.  wevory
2. LIk
3. LDERG
4. LDITITLY

Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 54 Question Id : 39226623934 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
SLEeoMLT SHmeveusd IHBHEST SHLE60MBLD
HIGUTWLD QLT [BeVsEI.
- &5@nruneiled LuleiTmieuHD Hevofl
1. aB3HSSHT(H 2 6UemD BH6uofl
2. 2 _6uemD Bisvof]
Geuhmiemid Bievofl
4. fg6WMHs560 Bievof

LS |

Options :
1.% 1
2.% 2
3.%3
4.9 4



Question Number : 55 Question Id : 39226623935 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
SD&ETEMID  sapmsafied eag &f? a5 Feoum?
&600T(BLILQ.

gabhm N : Fs6T RECOHNH K6 CILINHHEHIEUDSS
SEMEIT  6T60TLI.

gapml 3 WSSHISET ReTCnT FeoGeur GBS
DiemDEUGFH] SR 6T60TLILI(BLD.

1. sapm B &, sabm S S6um)

spm S sam, sadn S SaD

sgapm S &fl, sapm S &

4. sapm S gouml, sapml S &

-2

LS |

Options :
1.9 1
2.% 2
3.% 3
4. % 4

Question Number : 56 Question Id : 39226623936 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
SDSHEHTEUTLUDMIET  6uevedletTD  WIBT B SH05
SIEMLILIMTETLD SHT60T.

1. 2 _euemDEHE\HTenS
2. &L.(bs Sy

2 _IDEMIDG 6)FHTEWS
4. efleorngSrily

Options :

1% 1

2. % 2

3.¢3

4, % 4

Sub-Section Number : 2

[ ]



Sub-Section Id : 392266907
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 39226623937 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘LJe06oT s glufleor suLpIGul eOWLUILI(BLD
SienILukISEGeT  SHevefluiiedT SHRUILIEHLWIMGLD 66Ty
gamlwieurt

1. g=meor(BWIl

2. ewsnLeornd

3. omevon@emrl

4. SiMlepT smblesfluien

Options :
1. % 1
2.% 2
3.%3
4.9 4

Question Number : 58 Question Id : 39226623938 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

SHSMD UGLLINEG mewLpsnpuieyeTer ShLlgse0
PsmD

1. LDOL|6uLDl
2. 6\Fweveufl
3. 6FWwev HULID
4.  eflBeuqHLd
Options :
1.¥ 1
2.% 2
3. % 3

4. % 4



Question Number : 59 Question Id : 39226623939 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Sisetin LpLdlest Crnasmsefleo evsonsg)

. LUQSSWSF &G(HSS 6[(WDHID SHDEIT 6UETITSHS60

6\FMELMBIILD, EWIMIRETHBWILD 2 _6T0TITSH6D

o Feneruilems HTEL LIRSHSHF

E1F WIS HEDET AHMNSH6D

4. Quwey CHISMSL LIWSDIETOT (LpemmUied
61560605560

-3

Td

Options :
1. % 1
2.9 2
3.% 3
4, % 4

Question Number : 60 Question Id : 39226623940 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

&Cr ewMH&EST @(HEGL CaumnuUTBHEHSES
SIQUILIEDLWITS SHeMLDEUS)

1. Geubmewpmpl SMHSLD
2. Sb6wmH GUED FIPSMILD

3. LSS 6UDSSLD
4. Beouuss
Options :
L% 1
2.9
3.%3

4.% 4



Question Number : 61 Question Id : 39226623941 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

SDOHMEL-HDLISHE0, LDHILBSHL SpBW FWDHLTBSHerTled
rEULBeTer mevorey  SpAflwT, GHeument, USSHLD
aWFICUMT HBCWMHSS GUDSTLBLD  HQLUILIEDL
<S4, 616UTTLD

1. UL eyoun®

2. UmLsE&muy

3. UMLETe0
4. uMLSSLLID
Options :
1. %1
2.% 2
3.%3
4.9 4

Question Number : 62 Question Id : 39226623942 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

e\FWwwerfleoT LiorBemevsemet suflemsFLIBSSIS.

Ol OUMBET BIMseL b OFTHEemeTU Lfgge0
&, HBWD umomiBse0  F. 2 _ewIheDLULBSSH|SH60
. &, S & R

2. S, B, 7, B

F, S, Sh 8

4. B F 3h A

fad

Options :
1. % 1
2.9 2
3.%3
4. % 4



Question Number : 63 Question Id : 39226623943 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

s606fl  E\FWeOLIMLIQENT  @eueleum®  [Beweoullegid
BEDD@GEDDHEWETS SHEILNIW 2 S sus)

1.  UMLEmeD
2. wauie
3. uUmMLsSLLID

4. LMLeImun@®
Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 64 Question Id : 39226623944 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Wbl uwibpmweys FeaLgdet fpLLg HettenLbuiled
B6060Ns G|
1.  BerdeFwsed
2. umgdLd GFHeFHBSSH60
SmBSSD 61LIM|F60
4. seliGauss &MHMEd

LS ]

Options :
1. %1
2.9 2
3.%3
4. % 4
Section 5
Section Id : 392266782

Section Number : 5



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266908
Question Shuffling Allowed : Yes

Question Number : 65 Question Id : 39226623945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the declarative form of “What a great performance’!

L. The performance, what a great one!

2 The performance 1s great.

LS ]

How great 1s the performance!

4. What a Great is the performance.

Options :
1.% 1
2.9 2
3.%3
4. % 4



Question Number : 66 Question Id : 39226623946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

They play basketball every Sunday:.

Choose the negative form of the sentence above.

1. They does not play basketball every Sunday.
2. They did not play basketball every Sunday.
¥ They do not play basketball every Sunday.
4. They do not plays basketball every Sunday.

Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 67 Question Id : 39226623947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the adjective that can not be used in superlative
degree.

1. beautiful

2. industrious

3. talented

4. universal

Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 68 Question Id : 39226623948 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Several of the girls are beautiful.
In the sentence above. “several’ 1s
¥ an adjective

2. a pronoun

3. an adverb

4. a preposition

Options :
1. % 1

2.2
3.%3
4. % 4

Question Number : 69 Question Id : 39226623949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I'm afraid I must ask you both what (do) yesterday at
10.20 pm.

Choose the option that fits the blank.
I did you

2, you were doing

LS ]

were you doing
4. did not do

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 70 Question Id : 39226623950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The radio has been playmg since 7 am. I wish someone
____ (turn) 1t off.
Choose the option that fits the blank.
1. would turn
7 will turn
5 turn
4. has been turning

Options :
1.¥1
2. % 2
3.% 3
4. % 4

Question Number : 71 Question Id : 39226623951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He dwelt effective communication media in modern
society.

Choose the preposition that fits to blank.

1. by
2 on
3. o
4. n

Options :

1. % 1

2.9

3. % 3

4.% 4



Question Number : 72 Question Id : 39226623952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I congratulated the winners in the competition the
principal

1. i behalf of

.4 on behalf with
for behalf of
4. on behalf of

Tl

Options :
1. % 1
2. %2
3.% 3
4.9 4

Question Number : 73 Question Id : 39226623953 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the word with a silent ‘d’.
| dash
2. dolphin
3 Wednesday
4, direct

Options :

1% 1

2.% 2

3.3

4. % 4



Question Number : 74 Question Id : 39226623954 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the word that comes before the word ‘month™ when
the words are arranged in alphabetical order.

1. mathematics
2 mother

: ) mutter

4. mould

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 75 Question Id : 39226623955 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I have little money left. let’s have dinner in
restaurant

Choose the correct set of articles that fit the respective blanks.

¥ a4
918 4. an
3 the. the
4. an. an
Options :
1.1
2. % 2
3.% 3

4, % 4



Question Number : 76 Question Id : 39226623956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I bought steel produced at Visaka Steel Plant.

Choose the article that fits the blank.

1. a
P an
3. the
4. No article 1s needed
Options :
1. %1
2. % )
3.¢3
4. % 4

Question Number : 77 Question Id : 39226623957 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘The Lost Child is a short story by

1. Ruskin Bond
2. Mulk Raj Anand
% Roald Dahl
4, Somerset Maugham
Options :
1% 1
2.2
3.% 3

4.% 4



Question Number : 78 Question Id : 39226623958 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“The Selfish Giant™ by Oscar Wilde is a story that explains the
theme of
I identity

2 Hard work

-

3. Jealousy
4. generosity and kindness
Options :
1% 1
2.% 2

3. %3
4.¥ 4

Question Number : 79 Question Id : 39226623959 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In an essay. a thesis statement accomplishes the following.
1. Introduce the main points of the body paragraphs

2! Provide a summary of the conclusion

[ ]

Present the main argument or central 1dea

4. Offer suggestions for further research

Options :
1. %1
2. % 2
3.¥3
4. % 4



Question Number : 80 Question Id : 39226623960 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the technique that is used to hint at future events or
outcomes in a story.

1. Procrastination
2. Foreshadowing
3. Flashback
4, Red herrings
Options :
1. % 1
2.¥2
3. % 3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266909
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 39226623961 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The level of cognitive objectives that involves the ability to
understand the mood of the writer 1s :
I. knowledge
2; comprehension
3. Application
4. Evaluation
Options :
1. % |
2.2

3. %3
4.% 4



Question Number : 82 Question Id : 39226623962 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the incorrect statement about the nature of the English
Language.

L English 1s a static language and never changes
2 English is influenced by various languages over time.
3. English is a complex and evolving linguistic system.

4. English is affected by culture and social factors.

Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 83 Question Id : 39226623963 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Enabling the students to use appropriate technique in different
types of writing is an objective of teaching

L prose
2 poetry
3. drama
4. composition
Options :
1% 1
2. %2
3.%3

4.9 4



Question Number : 84 Question Id : 39226623964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The structure of a sentence 1s :
1. arrangement of syllabus
2, arrangement of alphabetical order
3. meaningful arrangement of words
4, order of adjectives

Options :

1% 1

2. % 2

3.¥3

4.% 4

Question Number : 85 Question Id : 39226623965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The English Teacher’s Kit is useful to :

1. develop a set of easy to use material
24 score more marks in entrance examinations
x. measure the interests of students
4 organize events like annual day
Options :
1.1
2. % )
3% 3

4. % 4



Question Number : 86 Question Id : 39226623966 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Curriculum is :
E a plan that provides learning opportunities

2 a plan that shows how to teach a lesson

L |

a test that aims at physical strength

4. a book that has all topics of science

Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 87 Question Id : 39226623967 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Oral Method of teaching was proposed by :

L. Henry Sweet
2. Edward
3. Hymes

4, Harold E Palmer

Options :
1. %1
2. %2
3.% 3
4.9 4



Question Number : 88 Question Id : 39226623968 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Omne of the following is not a psychological factor that affects
second language acquisition :

L Ambience
2 Motivation
3. Aptitude

4, Attitude

Options :
1.9 1
2.% 2
3.% 3
4. % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Section 6

392266783
6

Online
Mandatory
24

24

12

0

1
392266910
Yes



Question Number : 89 Question Id : 39226623969 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Multiplicative identity for whole numbers

(PP 6TEOUTHETTIE0 6II(HSHSHED FLD6UN

1. 6°— 8°
o) (2023 —2024)*5
5 g
3 —
<l
-3 2
4. —Xx—
2 3
Options :
1. % 1
2.% 2
3.3

4, % 4



Question Number : 90 Question Id : 39226623970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The greatest 4 - digit number that 1s exactly divisible
by 16. 20. 24 1s

16, 20, 24 SpBW eTevUTHENMMEL LBHuNIN 6uGSLHBLD

Blasuewmw HreTg &eosdd 616u0r

1. 9960
2 9720
3 9840
4. 9920

Options :

1. %1

2.% 2

3.3

4.% 4



Question Number : 91 Question Id : 39226623971 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A car takes 1 hour 40 minutes to reach the destination by
travelling at a speed of 60 kmph. If the car travels at an extra
speed of 20 kmph. number of minutes in advance will it reach
the destination

QM SHMImeng| Wewlleg 608.5 GousgHed Liwewila@ELD
Gungl, GaoGeustiriow GLFews SewLw 1 LDewof]
40 BULMRISET SHdnE. R Gouewer, wewlleEg 20 &.15.
ga(Bgeomenr  GaussHe0  LIWEWNESTED,  BSHEWE0T
BUOILRISEHSES (PTCL BRe0HemS: 61F60TN) SHeWLLD.

1. 15
2. 20
3. 25
4, 30

Options :

1. % 1

2.% 2

3.¥3

4, % 4



Question Number : 92 Question Id : 39226623972 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The amount to be repaid on ¥ 12000 at 2.5% per annum simple
interest after 2 years

212000 601 L5g), euHBLSGEDG 2.5% Sevfleurioufed

2 SHTBSHEHES LN6TT 61F60155CeU6tInioul 6)DNSS,

Q‘EJHED'JE
1. < 12600
.3 < 12800
3 < 13000
4 < 13200

Options :

1.v1

2.% 2

3.% 3

4.% 4



Question Number : 93 Question Id : 39226623973 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the quadrilaterals in which the diagonals are
perpendicular and bisect each other.

1. Parallelogram and Rectangle
2. Trapezium and Rhombus
3 Square and Rectangle

4. Rhombus and Square
FLPEWEEHILLIRISET  REUTemDAINGN 6\ FRIGHSTSH
BHFDSFANLSGFAU  HIDSHIRIGENOT  HeWLUWITEITLD
STE0015.
L BeH6uTSID LDHMID 61F6EUEUSHLD
2 &rfleusD LDHMID FMLIFHITLD
3. &b LOHMID 6\FeUEUSLD
4 FMUFSHITD LDOHMID FHITLD
Options :
1. %1
2. % 2

3.% 3
4.9 4



Question Number : 94 Question Id : 39226623974 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the number of faces and vertices of a polyhedron are 20. 12
respectively, then number of edges 1s

QM  UeTpAulelT  (PSHMIGET  WOMID L FdG6iT
wpemmBW 20, 12 erevfled  Bigeor  eflerfllbyserfleor

6T6UT6T0TISH6MS
L. 32
2 30
3 22
4. 20
Options :
1. % 1
2.2
3.% 3

4. % 4



Question Number : 95 Question Id : 39226623975 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ZP1s equal to its complementary angle and ZQ is equal to its
supplementary angle then £ZP: Z0=

/ZPetetiug]  DigetT MBIy GanewisHnG — FLDD
OHMILD ZO0 66U DHS6etT WensBruL GaHTennsHnE
FIDID er6ufler /P: /0=

1. 123
2 1:2
3 221
4. 3: 1

Options :

1. % 1

2.9 2

3.% 3

4. % 4



Question Number : 96 Question Id : 39226623976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

All the diagonals of a regular hexagon ABCDEF are
intersecting at ‘O’. Then Z40C =

ABCDEF 660D S(RMRISTE0 HNIRIGHTE00TEH60T
DIeWEUTSHF]| FLPEWEVEHILLMRIGEHD ‘O 60 616UL IS
E\BMETHETMEDT 6160160 L 40C =

1. 120°
2. 60°
3. 450
4. 30°

Options :

1.¥ 1

2.% 2

3.% 3

4, % 4



Question Number : 97 Question Id : 39226623977 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1 . -
If x=— then the value of 2x(4x—5)+71s
2
1 . . : "
yv=— 6l6ufled 2x(4x—5)+7 601 DS
2
L. 22
9
- 101
' 9
- 13
iy 1 —
3
41
4. —
9
Options :
1. % 1
2. % )
3. % 3

4.9 4



Question Number : 98 Question Id : 39226623978 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1-5 -6, &3
37 x107 x5 .
Value of = 15
2 xb

T 0 s’ & i
59 %6~ H

1
L. =
2
2 2
3 5
1
g =
J
Options :
1.¥ 1
2.% 2
3.% 3

4. % 4



Question Number : 99 Question Id : 39226623979 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1 '+l .
If x+—=>5, then value of —— 1s
X X
1 . x4+l 2 .
x+—=5 ereofled, —— 60T DL
X X
1 23
2 27
3 25
4 28
Options :
1.¥1
2. % 2
3.% 3

4, % 4



Question Number : 100 Question Id : 39226623980 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The perimeter of a rectangle 1s (4x—28) and its width 1s (x—35)
then length of the rectangle is
RH O\FEUSSHEN &HDMeTey (4x—8) GeD ASH60T
DIHEOLD (x—5) eTeulled HFO\FeUUSBSHET [HEITLD

1. 3x—3
2 3x+5
3 3x—13
4, x+1

Options :

1. % 1

2. %2

3.% 3

4.9 4



Question Number : 101 Question Id : 39226623981 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If a dice thrown once, then the probability of getting
composite number on it 1s

QMH USHWLEDW SHWpewD 2 (hL(BLD GuUNSl, HS60T
Bg uGeer SepLULSHETET BEHDSH6Y

|
1 nnd
3
2
2 ¥
3
= 1
3 B o
2
1
4, =
6
Options :
1.¥ 1
2.% 2
3.% 3

4. % 4



Question Number : 102 Question Id : 39226623982 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The following DO NOT have line symmetry

SDHSEUILUDNIEL FOFFT GSHMLEDL ALIDITHED

N X.0
2. A B
3. F. G
4, H. €

Options :

1. % 1

2. % 2

3.3

4. % 4



Question Number : 103 Question Id : 39226623983 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

- i ¥
A man travelled = of his journey by a train, — by a bus and

!
the remaining 16 km. by an auto. The total distance he
travelled(in km)

LIM&LD

Q(H [BUIM, H6E0IF 6\DMSHS LW HIS5H60,

RN

BrufedleyLd, % un&b GuHbSeuLDd, WBHuwjeter 16 H.L5.
GIsens SHLCLMefleyd Lwewllgsni ereufleo Dieur
LW6EmTD 6\&FWS 6WDNgs S (&.15.-60)

1. 300
2. 280
3. 240
4. 120

Options :

1. % 1

2.9 2

3.% 3

4, % 4



Question Number : 104 Question Id : 39226623984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Ilﬁig}lt of a cuboid whose volume is 275 cm’ and base area
is 25 cm” 1s (in centimetres)

MH SHEUEO\FOUUSEHET  FHEUT  DlerTey 275 &.61&.15.
Goeyld e JleuiLgliemey 25 F.60F.5.  erevfled
DNEHENFC\FOUUTHSHET LWL (61&.15.-60)

1. 11
2 15
3 9
4. |
Options :
1.4 1
2. % )
3.% 3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266911

Question Shuffling Allowed : Yes



Question Number : 105 Question Id : 39226623985 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“A hypothesized productive system is Mathematics™ it 1s said

by

L, Bell

2. Maria Pierre
3. Locke

4, Aristotle

“HHBICHTET 2 DHUSE SHewbUEBU S6wflgd”™  er60Tm)
gamlieurt

1 6I1LI6D
2 wrflwr  Swirfl
3. 60IMS
4.  SirflroLmgeo
Options :
1% ]
2.¢2
3% 3

4, % 4



Question Number : 106 Question Id : 39226623986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Socio Cultural theory” was formulated by

i. Piaget
2. Skinner
3. Vygotsky

4. Adam Smith
“gops SHEUMFSFMT GHMULMLENL” 2 (HEUTSSWeUT

HwmGe
3. 610 ETTEOTIT
3. emeUGSHML e

4.  SiLD ewls

Options :
1. %1
2.% 2
3.3
4. % 4



Question Number : 107 Question Id : 39226623987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The author of the book ‘Karana Kutuhalam’

i Bhaskaracharya - II

2 Brahma Guptha

3 Aryabhatta

4. Srinivasa Ramanujan

‘GO0 GHTADEVLD’ 61601 LGHHSHENS 6T(LDHUI6UIT
L. Umer&omESmmu - 11

2.  Upbw@ust
& SHMUILILLIT
4.  Gevlleuns @UMDITED)IER6E0T

Options :
1.¥ 1
2. %2
3.% 3
4. % 4



Question Number : 108 Question Id : 39226623988 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Play — Way method was introduced by
1. Anderson
2 Kilpatrick
3. Frederick Froebel
4. Armstrong
eflememum’ (B (LPewM SMHMEWED HM(LPSLILIBSSHWI6UT
L. S 600TLITEF 60T
2. SeoumLils
3.  purfls yGomewev
4.  SYDEVLIMHR
Options :
1% 1
2. % 2

3.3
4, % 4



Question Number : 109 Question Id : 39226623989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The specification ‘Selects appropriate method’ comes under
this objective

1. Skill

2. Understanding
3 Knowledge

4 Application

‘Flwnei(G&HE) WPpempenw  GSMey 6FWSE eTsniD
fpULS6TenD BSHSHISHCHTEBLET C\SMLITLeNLWIE)

1, Bmeot

2. Yfibssesnerenseo

3. Sipley

4. UWSTUBSSHIHE0

Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 110 Question Id : 39226623990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Scientist who considered ‘appreciation’ as a mathematical
value 1s

L. Breslich
2, Young

3. Munnik
4. Schorling

‘UMIMLB&S60’ TN §(F SH6001& LDSHLILIMG 6)1STE00TL
SHmleRlwieomlehiT
id Lerevedled

2, LI
3 (LpeuTeuflas
4.  eamiedlmk
Options :
1.9 1
2.% 2
3.% 3

4. % 4



Question Number : 111 Question Id : 39226623991 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Last step i problem solving method

1. Estimate the result

2; Checking the result

LS ]

Compare

4. Translating

rggenent STeGD (Ppeopullstt SHemLd L
1 eflemLemIL 2o HE 560

2.  elewLemw sSAUMTSS60

3. QUGS
4.  CWMPEIIWITHHE0

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 112 Question Id : 39226623992 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Method of designing the curriculum keeping in mind the needs

and interest of the child

1. Concentric method
2. Psvchological method
3. Spiral method

4. Topical method

GBS  GHeweusHsT WOHMID  68(HLULIMIGEDET
HHSHEL OBNEUI(D, SHWEVSHL LGNS 6UIQEUEHLDSHEGLD

¢peind)

1. ELMZIEMIDW (LPEWM

2. 2 emeflwed (Lpemm
3, &(HET (LPsmD

4.  FHemeoLeumrl (Lpsmm

Options :
1. % 1
2.2
3.% 3
4. % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Section 7

392266784
7

Online
Mandatory
24

24

12

0

1
392266912
Yes



Question Number : 113 Question Id : 39226623993 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The major source of Sulphur dioxide and Nitrogen dioxide are

I Buring of tires
2 Petrolenm refineries
3. Ailr conditioners

4. Herbicides
F6OLIT 6wl SpSHemerd(B LMMILD EMHLTER6EIT 6L
OB SEWUDMIET (LPHSW ELPEOTSMILD

1. LWIMTSEDET 615560
2. wLGomedl &HEBHIMLL Dbeme0SHET
3. SerflerpLLps6r
4.  BHEDETEHE)HTEVEVIHET
Options :
1. %1
2.9 2
3.%3

4. % 4



Question Number : 114 Question Id : 39226623994 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Salivary gland :ptyalin : : Pancreas : ?
1. Lipase. Trypsin
2 Trypsin, sucrase

Lipase. Pepsin

(d

4. Amylase. Sucrase
2 1ODBT &I : ewLwedlesr ;: SHemeuTuiLD ?
1. emeoBLien, Lorfllidler
2 priivifleor, &a@men
3.  eweo@usiv, QWILISe0T
4. OiewGeve, HHET6N
Options :
1.¥1
2.% 2

3.%3
4. % 4



Question Number : 115 Question Id : 39226623995 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The structure that prevents entry of food into Larynx is

1. Glottis

2. Tongue
3. Epiglottis
4. Oesophagus

STELEUEMETSHGET 2 6uTeyll  GWMHLEHEMET  [HIEWLPU
6flLMD6D HBSH@SWD DiEWLDLIL]

E Semeen

2. BEG

B el BaTmQei

4. 2 _6u0T6Y &S LD

Options :
1. % 1
2.% 2
3.3
4. % 4



Question Number : 116 Question Id : 39226623996 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

A Stomata L Absorption of water
B. Xylem IT. Transport of food
3 Root hairs [II.  Transpiration

D.  Phloem IV.  Transport of water

SDEEHETLEUDEDD CIIMHSSHIS.

A @omeggiemer L Beor 2.mMEhEse0

B. em&6oD Il 2 6uureyIeIMIHLSHEWENT

HL5H|H60

Gaunggneflser 11  Bomellu GUITES

D.  &yGeTmuid IV. [BeoIssLSSH60

i A-I B-II, C-III, D-IV

2. A-IIIL, B-1IV, C-1, D-1II

3 A—-1. B-HL C-H D-IV

4. AL B-H; €-1 D-IV

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 117 Question Id : 39226623997 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The part of the brain that controls posture and equilibrium of
body

1. Diencephalon
2 Cerebrum
3. Cerebellum

4, Medulla Oblongata

2 LedletT GHMDM DHewiDey LD{_D@LD FLD[BEWEVEMIL
SLOULEBSSID ePenOTUI6oT LIMSLD

EMLUIETT 61FLIGO6TT
2 6Li(THeLpemerT
3. fmieLpemer

4.  (PGSETD

Options :
1. % 1

2.% 2
3.¢3
4. % 4



Question Number : 118 Question Id : 39226623998 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The element in water that controls the metamorphosis of
Tadpole into adult Frog is

; Iron

2. Calcium

3. Cadmium

4, Iodine

FHEDELILITL 6mL, EUETITFFLIEDLIHS SHEUEMEITUINS

2_(HLMOHDLD DHeDLeNenS SLBUUBSSID Seureuoiiisen
2 6Term S6ufioLd

L &by

P SMeudlLILD
3. S LOIWILD
4.  SGuimgsor
Options :

1. % 1

2.% 2

3.% 3

4.9 4



Question Number : 119 Question Id : 39226623999 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Correct inference when an animal cell is kept in a salt solution.
1. In isotonic solution the cell will shrink.

2. In hypertonic solution the cell will stay in the same size

L |

In hypotonic solution the cell swell and rupture
4. The cell dissolves
6fl6UMRI@ 61F6060lemeTT, 2 LIS SHenIF60I6D
O6USGLEUNS), UGB Frlwimeor Lpoey
1 LEaFTLTellE SHewIFedlev, 1F60 F(HhIS
QIGE
2.  ewamurLmells SHengsedlen, 61F60 HESH
DieTefled BIHSHGSLWD
3. emamEUNLTeNNls SHenIFedlsd, 61F6D
6i5aDemLBE Sfkg 6NBD
4.  ewFeL sHenIbHeH(BLD
Options :
1. % 1
2.% 2

3.¢3
4. % 4



Question Number : 120 Question Id : 39226624000 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The character helpful to identify bad quality seed

1. Sinks 1n water

2. Having round shape

3. Contain dark colour and texture
4. Floats on water

SIDOD  clewsHemer FewLMeuSD&G  LW6eTLBLD
LI6TOTL

1. Brled epd eNlBoug)

2. 6L elpeISems eWbhmlHLULS]

3.  OILBS BoLD LDHMILD HEWLDLIL|L 60T
smevorLILI(Beug)

4. Brilev WsLLG)

Options :
1. % 1
2. % 2
3.% 3
4.9 4



Question Number : 121 Question Id : 39226624001 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The food items that contain Vitamin C

L Liver

IL. Mirchi

I11. Banana

IV. Tomato

emeulLLOl6T C 6wl EWDMISTET & _6v0TeyLl SR
L FFT60
I  WleTsmu

[II. euTEWDLILIPLD

IV. &&snerfl
1. L. I
2. IL IV
3. LIV
4, IL 1T
Options :
1. % 1
2.9 2
3.% 3

4, % 4



Question Number : 122 Question Id : 39226624002 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The speedo meter in vehicles record the speed in

1. cny's
2 m/'s

3. n/min
4, km/h

aunsenmgefleo  Geusomesll aunsen Coussams BP0
USe e\ F SN

1. 6\&.15/ efl
2. 15/e0
3 LB;"'I'BH
4.  &.5/wewf
Options :
1. % 1
2.% 2
3.% 3

4.¥ 4



Question Number : 123 Question Id : 39226624003 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Combination of the two or more electrical cells 1s called

¥ MCB

2. Fuse

Circuit

L |

4, Battery

Brevti(® DH6VELFH HBSLILIQUITETT LEIEITSHE060THEMENT
BemeTEFHE0 Qeuauy) HewWSSLLIBEDS)

L MCB

2. LbleoT 2 (B

3. LOl60T & DM

4. prmeLrfl

Options :
1. % 1
2.% 2
3.%3
4.9 4



Question Number : 124 Question Id : 39226624004 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Naphthalene balls that are used to repel moths are obtained
from

. Coke
2. Coal
3. Coal tar
4 Coal gas

SIBGILLLEASmeT AL LWeTUBSSULGLD HLgH6e0l6or
2_(HETemLSET @BeOlHHS HWMTsEsLBEDS)

1. &608I]

2.  [Beuss

3. Beosadl s

4.  Beoas eumuy

Options :
1. % 1
2.% 2
3.3
4. % 4



Question Number : 125 Question Id : 39226624005 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
Correct order of frictions.
X.  Sliding friction
Y.  Rolling friction
. Static friction
o _mmueyserflesr grflwmenr eurflemssSILDLD
X.  [B(Dey 2 _gmuey
Y. 2 (heBD 2 gmuey
Z. [Bewed 2 _Jmuiey

1. Xa<XN<Z
2. X <Z<X
3 "f £ X = Z
4. E<Z<¥

Options :

1. % 1

2.% 2

3.3

4, % 4



Question Number : 126 Question Id : 39226624006 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Strongest Fibre among the given fibres

1. Wool
2 Polyester
3! Silk
4. Nyvlon
SDHEHETIL RenLDS6rTe0 6usdlemDIImeTT SRemLD
1. SLbLier]
2 LImedleroLIT
3. UL(®
4. emHeOTeoT
Options :
1. % 1
2.% 2
3.% 3

4.9 4



Question Number : 127 Question Id : 39226624007 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the fruit that is not exported by us from the following.
1. Mango

2 Pomegranate

[ ]

Dragon fruit

4. Banana

EDESHETIL. LIDRIGET60 HID eImmIDg O\FUILIMTSENS
SeTLMIHH0

1. LDITLDLILPLD

2.  LDM&lemer

3.  1QOU&63T LIpLD

4.  eumemLpLILIDLD

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 128 Question Id : 39226624008 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A Device used to protect buildings from the effect of lightning

1. Seismograph

17 Electroscope

3. Tester

4, Lightning Conductor

Wieoteoted  OMIL  Bulledt  FTHGSHE0EOHHS
SLIOLRIGEWET LUMHISTHS LIWETLIBLD &(hHeil

L FenGLTST ML

2, 61605 L GrmenGamL
3. GIL6MLIT

4.  WletTeuTed HLGH

Options :
1. % 1
2.% 2
3.%3
4.9 4

Sub-Section Number : 2
Sub-Section Id : 392266913
Question Shuffling Allowed : Yes



Question Number : 129 Question Id : 39226624009 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s not a component of substantive structure of science
structure

1. Concepts
2. Theories
3. Methods
4. Laws

SiNefled  DemLfetT  [Bemeowment  SiewLDLILSI6
BID&FID SBiOEONSS)
1. & (HSSHIHET
X 6\STEITENSHS61T

3 (LPELMSEIT
4.  eNBsmer

Options :
1. % 1
2. %2
3.°3
4. % 4



Question Number : 130 Question Id : 39226624010 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Sharing of learners opinions based on key words will be done
in this stage

1. Conceptual understanding
2. Conduct activities
3. Demonstration - discussion

4. Mind mapping

(WPpEHBEW O\FmDseflen SHolewLuied smueurfes
HHSMS 6\SMelllug &bs HBemeouilsd
HEWLEILNIBED .

1. LML &&[HESHIHEDET LMHHI56)HT6TEHSH60

2. \FWELEHEDAET [BT6USSHSH60
3. GFWZHGMLLED - &EOHSHIEMIWIMLED

4. LD6UTEUEMITLIL LD

Options :
1. % 1
2. % 2
3. % 3
4.9 4



Question Number : 131 Question Id : 39226624011 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Unit 1s an elaborative concept which 1s inter related in nature™
is defined by

1. Preston

2 Willbert

Bosing

4. Card well

“QReTCMN® R6TM \FTLAYenLW [Hevor  efifleursor
UMLSEDSE H6OG 6ET6UTLIT 6T60T GUEWITLIENM 6FLSH6UT

LS ]

I LIT6roL 60T
2. efleoLImL
3. Gundm
4. SMT(BE6U6D
Options :
1.v 1
2.% 2
3. % 3

4.% 4



Question Number : 132 Question Id : 39226624012 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student explained the relation between beak shape and food
habits of birds.The objective achieved by this 1s

1 Knowledge

2 Skill

3. Application

4, Understanding

&, LDMEuTTeUT LIMeneuGerfleit Bieodest 6uleugHSn@LD,
2 66 LID&EHESHDGLD BRewLGW 2 67T 61GMLITenL
efleuflssnT. @6 eumuieons HBewmeuewLBHS

GM&EST6IT
1. Sinley
2.  Smeor
5 LiweotuIm(®
4.  Yfibsse\sTeTerse0
Options :
1. % 1
2.% 2
3.¥3

4. % 4



Question Number : 133 Question Id : 39226624013 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

First step in 5 - E model of learning

I Evaluate
2. Engage
3. Explore
4. Explain

5-E &pmev wrduiled (pged LiBemen
1. LDSHLILN(BSH60

2z FOUBS60
3. Spue] 6\FWSE
4.  efleurllggen
Options :
1% 1
2.¥2
3. %3

4, % 4



Question Number : 134 Question Id : 39226624014 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This is used to evaluate science textbooks keenly
1. Vogel evaluation tool

Thurston evaluation tool

-2

Termon evaluation tool

fad

4. Long field evaluation tool
Sifleflwed  UMLUSSSRGemeT  eflfleuns  wH®
OFLOISNHE& BRewd LWeiTLI(BSHI6UT.
1.  Geumedev WHUILBE SHHed
2. ghevLer EIILBS Hmed
3.  6wmbesr HINIBE &HmHel
4.  eommaYe0® WEIBE HHeN
Options :
LY
2. % 2

3. %3
4.% 4



Question Number : 135 Question Id : 39226624015 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This 1s not a character of Analytic Rubrics used in evaluation
i Contains concepts to express clear responses
2. Useful for making student profile

Less priority for creativity

(S

4. Easy for teacher
ST I6L LWeTUGSSLULGLD LGLILIMLeY
elpLflGerlletT LItT HeLELNS G|

1. FIWITETT &|6OMRIHEVHEMET 6)5Mefl& G0
SGHSBIEET BHSSGD
2. DmevuTeuT &wefleumd Swimilss LwedTL(BLD

3.  OEHESIDMISS GEDEUTE (LpeiTeniflentp
4. A FAMmHES eaflembwns SHHSLD.
Options :
1. % 1
2. % 2

3. %3
4.¥ 4



Question Number : 136 Question Id : 39226624016 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

After reading APJ. Kalam’s biography, he too decided to work
with dedication. The scientific value obtained by him is

L Utilitarian value

2. Moral value

L |

4. Intellectual value

Scientific attitude value

AP] meomb DleuTsefledr euMD&HeWS  sUTEOMDEND
LRSS, STend JATuefuCGur® Geuewed  G1&FWIW
(PIg6)Y E\FIWIZED 6TEOTLIHED AHeuT DewLBS Dinefleo

DS

1. LIweoTUm (B LDEBLILY

BEOmH Py

oW

Options :
1. %1
2.9 2
3.%3
4. % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Sinflefluiey LDESTLILIMGETEmLD LDELIL]

[I600T600T(15l6Y  LDSL L

Section 8

392266785
8

Online
Mandatory
24

24

12

0

1
392266914
Yes



Question Number : 137 Question Id : 39226624017 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The 1sland of ‘Diu’ is relatively near to this state

1. Karnataka
2. Goa
3 Gujarat
4, Kerala
‘LU Sey @DMBeusHNE LseD BHi(HEHeo
2_ereng).
SMHILST
2. Gmmeur
3. SRS
4. Gagemm

Options :

1. % 1

2.% 2

3.¥3

4. % 4



Question Number : 138 Question Id : 39226624018 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These forests are the habitats for Lion — tailed Macaque

L. Dry deciduous forests

2. Evergreen forests

3. Mountain forests

4. Mangrove forests

B&5N1BH6T HARS6IT GIEIGSEHEES
SUMLDESILTRISETTGLD

i 6UMEITL. Bemeol|BTEH SHM(B&H6IT
2 L&6EWLD DS &M([B&6T

3. LDEWEVSE: SHMT([HHET

4 FHLL| Be0dE HMBSH6IT
Options :

1. %1

2.¥2

3.% 3

4.% 4



Question Number : 139 Question Id : 39226624019 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The state that shares its land frontiers with Myanmar and
Bangladesh is

1. Tripura
2. Mizoram

West Bengal

[ ]

4. Assam
WSIWIMTEOTLDIT LDMHMILD LIRIGETTESH6 2 L 60T [B60
eTeVEMEVS GHMUemL LIBTHEIE\SMTETEHLD LDMBOLD

1. Srflyom

3. OGERMILD
3. (Gh@ euRISTaTD
4, SH6NVETITLD

Options :

1. % 1

2.9 2

3.% 3

4, % 4



Question Number : 140 Question Id : 39226624020 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The famous book ‘Madhuravijayam’ was written by

1. Tallapaka Timmakka

2. Atukuri Molla

3. Gangadevi

4. Nagalamba

Nrdsd DD SHITTENIERUID 6T60TENID [HITEWe0
eT(LD& W6t

L SM6TOTUNSS HLDIDSGST

2. SiBaarfl 6IDmev6w

3. smar Gzeil

4.  IBMSEOMDUIT
Options :
1. % 1
2. % 2
3.3
4. % 4



Question Number : 141 Question Id : 39226624021 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He was the Governor General of India when the Permanent
Settlement was imtroduced

I; Warren Hastings
2. Comwallis

3. William Bentinck
4 Dalhousie

Bomsr Heoeufl Sl  HwpsuuBGsBL  Gung)
BT BHSHU HEUITETIT 61gREVITEONSE BHHBSMIT

1 EUMT6T GEUMEIVIQIRIEN
2 SMI6T 6umedleny

3.  efleoedlwd ELI6tTIQMR
4.  Leveunerd

Options :
1. %1
2.9 2
3.% 3
4. % 4



Question Number : 142 Question Id : 39226624022 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
According to Wood’s Despatch. the British government
established universities in these cities
1. Bombay. Madras. Calcutta
2. Hyderabad. Delhi. Kanpur

3. Banaras, Srirangapatnam

4, Bombay. Calcutta. Delhi

2 _1'610 SN SemSHEnLL Sisn&fl5g) Nl igeln
OITFMMRIGD  SHEHEITRISET0  LEOHENE0SHHLDSHHISENET
boyetlwg

1. LILDLIMW, DS, &HE0SHSSIT

2. emamsImUNS, 1g606dl, SHTeoTLyT
3. Ueotmgeny, WHITRISLLIQETLD
4.  UDUM, SHE0HSSM, L6060l

Options :
1.v 1
2. %2
3.% 3
4. % 4



Question Number : 143 Question Id : 39226624023 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Ashoka’s inscriptions on Kalinga war were found on the rock
edict no:
H60hIE WGSHS505 GMSE 6\FMelle@D HEsFnasfeor
HEV6\UL (DS  FNF6UID, @BES 616001  6)SHT60TL
606U 106D &H600T6 L (B&HSLILILL &

. 9
2 15
3 11
4. 13
Options :
1.% 1

2.% 2

3.% 3

4.9 4



Question Number : 144 Question Id : 39226624024 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statements related to E.V.
RamaswamyNaickerfrom the following

A He 1s well-known as Periyar

B He came from upper class family

3 He studied Sanskrit scriptures carefully in his early life.
D He supported Hindu Scriptures

F, 616U QIMDEFIS HMUSSHHSHES SFDHSLILILL
ST FanmISEmeT SLD&S6E00TL 6UMHN60)HH S

&600TL MULIEYLD

A @eurm wflwmT er6tTmy LSLD 6WIDMMT.

B. @ W@y &BUUsSSeO[HHE eUhSeuT.

C. @l sersnenLw fneuuded &DS([HS
G6ug [RITELSHEMAT SHEUTTSHILETT SHDHMMIBSTIT.

D. @an @55 Gaug mHISmeT SLFMGSM.

1. AC

2. B.D

3. A.B.D

4. AB.C

Options :
1.¥ 1
2. %2
3.% 3
4. % 4



Question Number : 145 Question Id : 39226624025 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Fundamental Duties were added to the Constitution of
India in this year by the 42™*Constitutional Amendment

BBFH Q6D SIQLILIEDL.  SLEWDSET 42 6uG)
SITFWevsmDLILE  FULGHHRSSSHE eEPeOD  BHHw
SITweoenbLIgF FULSH0 CHFTHSLILILL 6.

i 1976
2. 1978
3 1982
4 1984

Options :

1.¥ 1

2. %2

3.% 3

4.% 4



Question Number : 146 Question Id : 39226624026 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The Muhammadan Anglo Oriental College was founded by

3 Mohammad Al Jinnah

2. Sayyid Ahmed Khan

3. Khijir Khan

4, Fazl Ali Khan

(PSS SpMmBGeom PrilwierrLed Seoearilemi
Bmyefluwieur

1. (PSLDIDG| D60l gsletTenT
2. MFWG| DHFLDG| SHIT60T
3. SN smeot

4, LIgR60 D60l &meor

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 147 Question Id : 39226624027 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
He was the only President to be re-elected for the second term
L. Dr.Sarvepalli Radha Krishnan
2, Dr.APJ Abdul Kalam
3. K.R. Narayanan
4. Dr. Babu Rajendra Prasad

STETILMTOUS] (LPEDMWTS GSLQUITS SHEWE0eUTTS
Campes@asuurL G €@ HBum
L LM&LT. snGeulieredl @omsmdneipevoreot

2. Lm&LA. APJ SIUg60 60D
3 K.R. AMLIEuIT60T

4. LAsLN umy @umlgmmpdr Lgsns

Options :
1. % 1
2. % 2
3.% 3
4.9 4



Question Number : 148 Question Id : 39226624028 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Oceania covers

1. Australia. Indonesia, Philippines

2 Indonesia. Vietnam. Pacific Islands

3. Australia. New Zealand. Philippines

4. Australia. New Zealand. Pacific Islands

Fwimeorm @euhemn 2_6TeTLSBU|6T6r)

L SpedCredwim, AbCsTGsurauim, le0lLienLsms
2. @nGsnGeuadwm eWLmMD, uss Seyser
3. SendCredlwm, Bufleonmbgl, LedlLemLsttei
4. SendCredlwm, Bwdleonmgl, UG Seyser

Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 149 Question Id : 39226624029 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

It 1s not used by the tailor

1. Bobbins
2. Measuring tape
3. Machine o1l

4. Plum bob
B& WSHWELSTIIMEL LIWeTUBSSUILLAS EWIMIHET

1 LmleoT&He1T
> a6y HILT
3. @WbST 6T600T6)60TIL
4.  EDSG
Options :
1. % 1
2.% 2
3.% 3

4.9 4



Question Number : 150 Question Id : 39226624030 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The crop that requires two hundred and ten frost - free days is

1. Wheat

2 Maize
3. Coftee
4. Cotton

SOEION USE Usll eumPwng mrseT Gseneull
U@ L9

L GamgemiD
3 LDSSTEFGHFTETLD
3. Sl
4, UhHSS
Options :
1. % 1
2. % D
3. % 3

4.9 4



Question Number : 151 Question Id : 39226624031 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Vivekachudamani. Soundarya lahari. Sivananda lahari,
Atmabodha etc... were writings of

L Ramanujacharya
2. Adi Shankaracharya

Madhvacharya

Thd

4. Vallabhacharya

6fiGeus GLMDew!, EFMHSTW evail, Heurensg,
e, S{FWD CuUIET (WPSEOlWemey  B6u[HEWLU
(RS LIEDLULSETTSLD.

1. @OMDTeIERMEFTITLT
2. S SHRISITEFTIWT
3.  LDSEUMEFSTTLIT
4.  GUGDEOLITEFFITITLIT
Options :
1. % 1
2.9 2
3.% 3

4. % 4



Question Number : 152 Question Id : 39226624032 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s not a part of the *Ashrama System’

I Grihastha

2. Gnanaprastha
% Vanaprastha
4, Sanyasa

85 ‘SFAMD SewbLSley’ @eveons Lfleum@GLd
1. SHAUDTENST

2 EHTETTLITEVST
3. GUM6OTLINTENOST
4 F6OT60TILLITEIT
Options :
1. % 1
2.9 )
3.% 3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266915

Question Shuffling Allowed : Yes



Question Number : 153 Question Id : 39226624033 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Marks allotted to an essay question in Summative Assessment for
class VI

VI Qbbb eu@Ly OFM&LUUS G3iTey LSS 106D
eBOeleum euems efleormellD@ GUDMISLILI(HLD

DS LIELIGTITSH6IT
1. 10
2. 8
3 6
4. 4
Options :
1. % 1
2.9 2
3.% 3

4, % 4



Question Number : 154 Question Id : 39226624034 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The author of “The Prince’1s

L. John Locke

2. Rousseau

3. Montesquieu

4, Machiavelli

'8 Lifletteny’ 6T6MID LSSH5H60T Dbt
1. ERITE0TEVITS

2 e

3. LDITE0TE L 6TV LL

4 LDT&BWITE6u6060]
Options :

1. %]

2. % 2

3.% 3

4.9 4



Question Number : 155 Question Id : 39226624035 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This method is based on the principle of ‘Not learning to live
but Learning through living’

1. Lecture method
2, Project method
3. Problem Solving method

4, Activity Based method

‘AMDAISHSTS  HOHMEL  CT6iTLENSEAL,  GUMDHES)
QFEMeI(® SHDHMEY eleTeID HFH15Pe0T 55 BHS
(LPEDMWIMETTE| ShSTILLIL (BT

1. eflfleyemy (Lpemm

2. E\FWEOBLL (P

3.  Jpgsemendi (Lpewm

4. OFWEL HQULIEDLUIIEOMETT (LPemMm

Options :

1%

2.9 2

3.%3
4, % 4



Question Number : 156 Question Id : 39226624036 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“Education is a key tool to effectively face challenges and
build a powerful society™ — stated by
i Jawaharlal Nehru

2 Kautilva

-

3. M. Visweswaraiah

4. Amarthyasen

“FEUMELEHEMET SMEWDWINS  THTOHTEIH FHHEUTLHS
FLPSMLUSENS 6UQEUEMIDES &H6v6ll (PHBW  SHIHEAWNS
LWIeTUBSEME!” eTetTsgamluieurt

1. geuamiieursd Gk

2. 6\&emgeow
3.  enb. efleuGeusneuruiw
4.  Sondwm e\Feor

Options :

1. % 1

2. %2

3. % 3

4.9 4



Question Number : 157 Question Id : 39226624037 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

They help to develop teaching and learning skills

A, Seminar
B. Simulation technique
. Panel Discussion

D.  Work shop

SDM6V SDLISSH60 BM60TSHEnE @GuUBSS
LiwesTLI(BLIsm6L

A SHSSIHGLD

B. 2 mausUU@Bss|56e0 HILLID

C. & HVHZHEOIWITLED
D

LWIDH&ALULLemm
b A.B.C
2 A C.D
3 AR C.I
4. BC.D
Options :
1. % 1
2.% 2
3.¥3

4, % 4



Question Number : 158 Question Id : 39226624038 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Kondaveedu Foit’ is a

1. Natural source, Written Source
2. Historical source. Primary Source
3 Written source. Secondary Source
4. Primary Source, Natural Source

‘O\FMeuTL6i(B GHMLeWL 6T60TLS| S(H
1. SWMHens ELPEOLD, 6T(DSHHIEU6 eLDEVLD

2.  6UJELMDM)] ELPEVLD, (LPSEITEMLD ELPEVLD
3.  6I(DS&I6UIQ6Y ELPEVLD, IEUITLMD [Bemed eLP6VLD
4.  (LpSH6UTEWID EPeVLD, BRIMEWS ELPEVLD

Options :

L% 1

2.¥2

3.%3

4, % 4



Question Number : 159 Question Id : 39226624039 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These are used to find out the relationship between Price and
Demand

1. Bar graphs
5.3 Pie graphs
3. Line graphs
4, Venn graphs

éllemeo LDOHMILD GHeMEuHS @eMLEWILETET E\FMLITEmL
SUUTLMIWL  LwedTLI(Beug)

i SO 6uemILILLD
2. 6ULL 6UEMTLILLD
3. GaM (B 6uemILILLD
4. £)6U6TIT  6UEMILILLD
Options :
1. % 1
2.% 2
3.3

4.% 4



Question Number : 160 Question Id : 39226624040 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“The process of knowing how far the educational objectives
have been achieved is Assessment”'said by

1. Benjamin S. Bloom

2 Ralph Tyler

3 NCERT

4, Vidya Vijnan Sarvaswam (1960)

"H606flE  GMISCHTETHET eTeUaUaTE] 6UDT FMHSHSHL
LUCL6TT et6nT 6\&MB&IS 6\&memend (WpemwpGw ALLID
E\FIGH6D” 616018 FaMUIGUIT

1. 6\LIERHELOI60T. 6161V, L{e6THLD

2. [IT60LI  EWLEDIT

3. NCERT

4. Vidya Vijnan Sarvaswam (1960)

Options :
1. % 1
2.92
3.% 3
4. % 4



